bl = B & # X B L
AL TREMER IR AR IR IREEER
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B T # %] 4,043 3,580 463 1,675 1,504 171 41.4 42.0 -0.6 37 26 11 36 25 11 97.3 96.2 1.1
54 o 1,991 1,806 185 794 646 148 39.9 35.8 4.1 21 13 8 20 11 9 95.2 84.6 10.6
PR A 1,132 1,072 60 455 375 80 40.2 35.0 5.2 11 5 6 10 4 90.9 80.0 10.9
5 bHhX 283 239 44 115 82 33 40.6 34.3 6.3 5 3 2 5 2 100.0 66.7 33.3
S bHbHEK 104 136 -32 49 54 -5 47.1 39.7 7.4 2 2 100.0 - 100.0
SbmK 472 359 113 175 135 40 37.1 37.6 -0.5 3 5 -2 3 5 -2 100.0 100.0
B2 2 bl 1,094 860 234 408 367 41 37.3 42.7 -5.4 8 3 5 8 3 5 100.0 100.0
b= ST ) 195 140 55 99 95 4 50.8 67.9 -17.1 2 1 1 2 1 1 100.0 100.0
E - 88 90 -2 33 36 -3 37.5 40.0 -2.5 2 1 1 2 2 100.0 200.0 | -100.0
£ ® W 74 84 -10 28 32 -4 37.8 38.1 -0.3 1 -1 1 -1 - 100.0 | -100.0
F R 0™ 30 55 -25 14 33 -19 46.7 60.0 -13.3 1 -1 1 -1 - 100.0 | -100.0
F S ) 99 82 17 56 42 14 56.6 51.2 5.4 - -
5 2 W 29 20 9 19 9 10 65.5 45.0 20.5 - -
R W 14 22 -8 6 10 -4 42.9 45.5 -2.6 - -
5 &1 41 45 -4 9 31 -22 22.0 68.9 -46.9 1 -1 1 -1 - 100.0 | -100.0
wmE AN W 71 52 19 38 21 17 53.5 40.4 13.1 1 -1 1 -1 - 100.0 | -100.0
~ B W 39 56 -17 24 34 -10 61.5 60.7 0.8 1 1 1 1 100.0 - 100.0
2 E W 48 44 4 13 32 -19 27.1 72.7 -45.6 - -
£ fF 0wW 27 23 4 15 14 1 55.6 60.9 -5.3 - -
b= R 69 58 11 16 29 -13 23.2 50.0 -26.8 1 -1 1 -1 - 100.0 | -100.0
R AR AT 10 23 -13 2 7 -5 20.0 30.4 -10.4 1 -1 1 -1 - 100.0 | -100.0
HEHRSH 14 19 -5 7 6 1 50.0 31.6 18.4 - -
& O ER Bk |y 9 16 -7 9 12 -3 100.0 75.0 25.0 - -
NNy N i) 19 12 7 6 10 -4 31.6 83.3 -51.7 - -
B E B EA - - -
& M R 5E B Ay 5 7 -2 2 4 -2 40.0 57.1 -17.1 - -
P FH AR B o0 T 19 10 9 13 5 8 68.4 50.0 18.4 - -
f FH AR 5 % HT 1 6 -5 3 -3 50.0 -50.0 - -
EHEFEERN - - -
AKEBBAKFIHET 5 1 4 2 80.0 200.0 -120.0 - -
A K BB 3% K ET 14 7 10 4 71.4 57.1 14.3 1 1 1 1 100.0 - 100.0
NS BB 2 o SR T 4 5 -1 5 4 125.0 80.0 45.0 1 -1 1 -1 - 100.0 | -100.0
TEH RN 34 37 -3 45 16 29 132.4 43.2 89.2 2 1 1 2 1 1 100.0 100.0




izl E e % & L
AL TREMER IR AR IR IREEER
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R

B F O K 317 312 5 280 299 -19 88.3 95.8 -7.5 2,813 2,463 350 935 789 146 33.2 32.0 1.2
54 (ITI—) 156 143 13 139 131 8 89.1 91.6 -2.5 1,418 1,304 114 454 341 113 32.0 26.2 5.8

5 bt 92 79 13 82 69 13 89.1 87.3 1.8 816 783 33 243 193 50 29.8 24.6 5.2

5 bHhX 13 16 -3 17 15 2 130.8 93.8 37.0 205 178 27 67 45 22 32.7 25.3 7.4

S bHbHEK 11 14 -3 8 17 -9 72.7 121.4 -48.7 71 101 -30 27 33 -6 38.0 32.7 5.3

SbmK 40 34 6 32 30 2 80.0 88.2 -8.2 326 242 84 117 70 47 35.9 28.9 7.0
B2 % b 91 71 20 84 73 11 92.3 102.8 -10.5 781 616 165 220 195 25 28.2 31.7 -35
b= ST ) 11 17 -6 7 18 -11 63.6 105.9 -42.3 126 85 41 61 43 18 48.4 50.6 2.2
E - 7 7 6 4 2 85.7 57.1 28.6 63 50 13 16 22 -6 25.4 44.0 -18.6
£ ® W 7 10 -3 5 8 -3 71.4 80.0 -8.6 37 45 -8 13 19 -6 35.1 42.2 7.1
F R 0™ 4 2 2 2 50.0 100.0 -50.0 20 32 -12 7 10 -3 35.0 31.3 3.7
F S ) 9 6 7 9 -2 77.8 150.0 -72.2 66 53 13 35 23 12 53.0 43.4 9.6
5 2 W 1 1 4 4 400.0 400.0 23 11 12 11 4 7 47.8 36.4 11.4
R W 2 -2 2 -2 - 100.0 | -100.0 10 15 -5 6 5 1 60.0 33.3 26.7
5 &1 2 6 -4 1 4 -3 50.0 66.7 -16.7 19 24 -5 6 18 -12 31.6 75.0 -43.4
wmE AN W 6 7 -1 5 7 -2 83.3 100.0 -16.7 52 38 14 31 12 19 59.6 31.6 28.0
~ B W 6 9 -3 3 9 -6 50.0 100.0 -50.0 21 38 -17 15 23 -8 71.4 60.5 10.9
2 E # 6 6 3 5 -2 50.0 83.3 -33.3 34 25 9 7 17 -10 20.6 68.0 -47.4
£ fF 0wW 2 2 1 4 -3 50.0 200.0 | -150.0 17 15 2 10 9 1 58.8 60.0 -1.2
b= R 1 3 -2 1 5 -4 100.0 166.7 -66.7 60 47 13 13 20 -7 21.7 42.6 -20.9
R AR AT 1 -1 1 2 -1 - 200.0 | -200.0 8 16 -8 1 3 -2 12.5 18.8 -6.3
HMEME S AT 3 -3 2 -2 - 66.7 -66.7 7 9 -2 3 1 42.9 11.1 31.8
& O ER Bk |y 4 -4 1 4 -3 - 100.0 | -100.0 8 9 -1 6 3 75.0 333 41.7
NNy N i) 1 1 1 1 100.0 - 100.0 16 8 8 5 10 -5 313 125.0 -93.7
B E B EA - - - -
& M R 5E B Ay 1 1 1 1 100.0 - 100.0 3 5 -2 3 -3 60.0 -60.0
P FH AR B o0 T 2 2 3 3 150.0 150.0 12 5 7 8 1 7 66.7 20.0 46.7
f FH AR 5 % HT 1 -1 2 -2 - 200.0 -200.0 3 -3 1 -1 - 33.3 -33.3
EHEFEERN - - - -
AKEBBAKFIHET 1 -1 1 -1 - 100.0 -100.0 2 -
A K BB 3% K ET 3 3 3 2 1 100.0 66.7 33.3 6 2 3 1 2 50.0 50.0
NS BB 2 o SR T 1 -1 1 1 - 4 3 4 2 2 100.0 66.7 333
TEH RN 1 4 -3 1 2 -1 100.0 50.0 50.0 5 -5 3 -3 - 60.0 -60.0




A B B B & B
AL REHE R AR A REER
SHTE | DHI6FE BB SHTE | DHI6FE HR SHTE | HH6F HR SHTE | HF6F HER SHTE | HH6F #ER SHTE | HHM6E R

B T # # 311 302 117 127 -10 37.6 42.1 -4.5 108 63 45 113 54 59 104.6 85.7 18.9
iz b il 141 134 49 56 -7 34.8 41.8 -7.0 42 24 18 50 25 25 119.0 104.2 14.8

2 b X 73 71 35 38 -3 479 53.5 -5.6 24 17 7 33 19 14 1375 111.8 25.7

IbHK 16 19 -3 7 9 -2 43.8 47.4 -3.6 7 2 5 9 3 6 128.6 150.0 -21.4

S bERK 4 7 -3 3 2 1 75.0 28.6 46.4 1 1 1 1 100.0 100.0

IHLEKX 48 37 11 4 7 -3 8.3 18.9 -10.6 10 4 6 7 3 4 70.0 75.0 -5.0
-y S bl 71 45 26 17 24 -7 23.9 53.3 -29.4 24 23 1 27 20 7 1125 87.0 255
2 b il 9 8 1 6 4 2 66.7 50.0 16.7 9 4 5 6 2 4 66.7 50.0 16.7
x g bl 5 16 -11 2 1 1 40.0 6.3 33.7 4 4 4 4 100.0 - 100.0
kv fif] bl 21 20 1 5 2 3 23.8 10.0 13.8 4 1 3 2 2 50.0 50.0
H# R bl 4 18 -14 18 -18 100.0 -100.0 - -
# ba bl 7 4 1 1 14.3 14.3 4 1 3 2 2 50.0 50.0
= 2 bl 2 1 -1 - 1 1 2 2 200.0 - 200.0
# R bl 2 2 2 -2 100.0 -100.0 1 -1 1 -1 - 100.0 -100.0
fid E0) bl 6 7 -1 5 -5 71.4 -71.4 - -
R A ™ 2 -2 - 2 2 1 1 50.0 - 50.0
Din %= bl 5 3 2 1 1 20.0 20.0 1 1 1 1 100.0 - 100.0
= BE bl 3 5 -2 2 2 66.7 40.0 26.7 1 5 -4 3 -3 60.0 -60.0
ES 1 bl 3 4 -1 1 -1 1 -1 - 100.0 -100.0
% = bil 4 3 1 1 2 -1 25.0 66.7 -41.7 1 -1 1 -1 - 100.0 -100.0
AR A S AT 2 2 - -
WERME S AT 5 5 4 2 2 80.0 40.0 40.0 - -
% O A 2 E T 1 -1 1 1 - 100.0 -100.0 - -
/)N BB & B HY 2 1 1 - -
B [E AR # E Y - - - -
5 BB IR B AT 1 -1 - - -
fs EB BB s SR HT 2 1 1 1 1 1 1 100.0 - 100.0
F5 H AR % & AT 1 1 - -
EHEBAEEN - - - -
AKEBAKFGHT 2 2 4 4 200.0 - 200.0 - -
A K BB 3= BK T 2 1 1 1 1 50.0 50.0 - -
PN ER & {6 o SR AT - - 1 -1 - -
B RAE 12 18 -6 23 7 16 191.7 38.9 152.8 15 2 13 17 17 113.3 113.3




z ft ) il = B
AL TREMER REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R
B T #® O 457 414 43 194 210 -16 425 50.7 -8.2
54 (ITI—) 213 188 25 82 82 38.5 43.6 5.1
PR A 116 117 -1 52 52 44.8 44.4 0.4
5 bHhX 37 21 16 10 8 27.0 38.1 111
5 bHEK 15 13 8 2 6 53.3 15.4 37.9
SbmK 45 37 12 20 -8 26.7 54.1 -27.4
B2 2 bl 119 102 17 52 52 43.7 51.0 -7.3
b= ST ) 38 25 13 17 27 -10 44.7 108.0 -63.3
E - 7 16 -9 3 7 -4 42.9 43.8 -0.9
£ ® W 5 7 -2 3 2 1 60.0 28.6 31.4
F R 0™ 2 2 5 2 3 250.0 100.0 150.0
F S ) 13 18 -5 11 10 1 84.6 55.6 29.0
m R W 2 8 -6 2 4 -2 100.0 50.0 50.0
R W 2 2
5 &1 14 7 2 3 -1 14.3 42.9 -28.6
wmE AN W 11 4 1 1 9.1 25.0 -15.9
~ B W 5 6 -1 3 2 1 60.0 333 26.7
2 E W 4 3 1 1 5 -4 25.0 166.7 -141.7
£ fF 0wW 5 1 4 4 4 80.0 80.0
b= R 4 3 1 1 1 25.0 25.0
R AR AT 3 -3 1 -1 - 333 -33.3
WEME S HT 2 2 1 -1 50.0 -50.0
& O ER Bk |y 1 2 -1 1 4 -3 100.0 200.0 | -100.0
NNy N i) 3 -3 -
B E B EA - -
& M AR 5 TF A7 1 1 1 1 100.0 100.0
P FH AR B o0 T 2 2 1 1 50.0 50.0
[ HB EB 7% & AT 1 -1 -
EHEFEERN - -
AKEBAKFGHET 1 1 1 -1 -
A K BB 3% K ET 2 1 1 2 1 1 100.0 100.0
NS BB 2 o SR T _ _
B BNE 4 7 -3 2 3 -1 50.0 42.9 7.1




